30

20

TP dxy(PV) (cm)

10

095 =50-15-10 =5 0 5 10 15 20 25

[ Nof associated tracks (simToReco) vs dz(PV) ]

[N of associated tracks (simToReco) vs dxy(PV) |

30

v2_prelimWP_5iter

kel
b
mkFit, TT:basell ne_6iter

‘%
mkFit_TThase

|

1
i
|
f
L
i
mKFit_TT_retrainOldFiles125

il

\

\

i

f

|

f
M_mKFit_TT_RetrainV2_WP2_6iter

20

10

-10

-20

—— DQoM
—— DQM
—— DQM

[N of simulated tracks vs dxy(PV) ]

[N of simulated tracks vs dz(PV) ]

[N of sim] —— bq

1.U9]
9

oney

0.

dz(PV) (cm)

TP dz(PV) (cm)

0

[N of associated tracks (simToReco) vs dz(PV) ]

TP dz(PV) (cm)
TP dz(PV) (cm)

0

[N of simulated tracks vs dz(PV) ]




	Contents
	Page 1


